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import sys
sys.path.append("statlib")
from multi import covariance_ratio
covariance_ratio(dat, verbose=True)
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dat = [[ 96, 102, 83, 129, 96],
[ 88, 59, 64, 65, 531,
[114, 163, 139, 141, 158],
[ 37, 18, 42, 32, 31,
[ 86, 67, 123, 123, 95],
[ 82, 67, 85, 124, 65],
[121, 167, 163, 150, 158],
[115, 168, 137, 148, 152],
[ 55, 78, 142, 104, 531,
[ 99, 130, 111, 154, 587,




[ 96, 55, 15, 47, 871,
[ 98, 89, 81, 105, 841],
[ 76, 50, 41, 1, 65],
[ 98, 54, 126, 77, 88],
[103, 124, 98, 123, 109],
[106, 126, 160, 155, 957,
[ 80, 95, 104, 60, 727,
[ 90, 83, 121, 112, 727,
[ 66, 129, 99, 103, 8&5],
[117, 113, 178, 124, 137]]

import sys

sys.path.append("statlib™)
from multi import covariance_ratio

a = covariance_ratio(dat)
covariance ratio

varl 11.433163

var2 16.906773

var3 24.327860

var4 25.746911

var>5 21.585293




